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HISTORY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. Attempt all the questions.

1.  Which one of the following pairs is not

correct ?

(A) Lower
Palaeolithic

(B) Upper
Palaeolithic

(C) Mesolithic

(D) Neolithic

Hunting,
gathering
Hunting,
gathering
Hunting,
gathering
Food
Production

2. Match the List-I with List-II and select
the correct answer from the codes
given below :

List-1

(a) Sarai Khola
(b) Tarkhanwaladera (ii) Pakistan

List — 11
(i) Haryana

(¢) Kunal (iii) Rajasthan

(d) Shikarpur (iv) Gujarat

Codes :
@ ® © o

A) () Gi) Q) Q)

B) @ Gy i) @Qv)

© () Gv) (i) ()

D) @© G >Gv) (i)

3.  Which one of the following pairs is

correct ?

(A) Rock shelter Langhnaj

(B) Microlith Mahadaha

(C) Site associated Lekhakia
with butchering

(D) Stone tool Isampur
workshop

4.  Match List-I with List-II and select the
correct answer from the codes given
below :

List -1

(a) Rigveda
(b) Yajurveda
(c) Samaveda
(d) Atharvaveda
Codes :

(A)
(B)
©
D)

Paper-1I

(@ (b) (o)
@ (@v) (i)
i) @) @Gv)
@) () (i)
(i) @Av) (@)

List — 11
(i) Vajsaneye
(i1) Shakala
(iii) Shaunaka
(iv) Kauthum

(d)
(ii)
(iii)
(iv)
(ii)

Match List-I with List-II and select the
correct answer from the codes given
below :
List-1 List - 1I
(a) Digha Nikaya (i) Dhammapada
(b) Khuddaka (i1)) Mahapari-
Nikaya nibbana sutta
(c) Vinayapitaka (iii) Kathavastu
(d) Abhidhamma- (iv) Khandhaka
pitaka
Codes :
@ () (© @
Ay @G) (1) av) (i)
B) @) () av) (@
© @ @y @) @(4v)
D) @) @Gv) ) (@

‘Indica’ of Megasthenes was preserved
in later Greek accounts. Which one of
the following Greek travellers’ account
is not associated with ‘Indica’ ?

(A) Ktesius

(B)  Strabo
(C) Arrian
(D) Pliny

Which one of the following pairs is not
correct ?

(A) Rock Edict Sarnath

(B) Minor Rock : Bahapur
Edict

(C) Pillar Edict : Rampurva

(D) Minor Pillar : Sanchi

Edict

Which one of the following

administrative structure in ascending

order is correct ?

(A) Dronamukha,
Samgrahana, Karvatika

(B) Sthaniya, Karvatika,
Dronamukha, Samgrahana

(C) Sthaniya, Dronamukha,
Karvatika, Samgrahana

(D) Sthaniya, Dronamukha,
Samgrahana, Karvatika
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11.

What is the correct chronological order
of the following ?

(a)  The Periplus of the Erythrean Sea
(b)  Cosmos Indikopleustes
(c)  Geography of Ptolemy
(d) Indica of Megasthenes

Choose the answer from the codes
given below :

A @ by (© @
B) @ (@© @ ®
© @ @ (@© (O
@ © @ @ b

Match List-I with List-II and select the
correct answer from the codes given
below :

List -1
(a) Agathocles
(b) Kadphises I

(¢) Vimakad-
phises

(d) Kanishka I
Codes :

@ (b (© (@
A) @) @@ av) (i)
B) @ (@v) @) (@)
© i) @ a) (Gv)
D) av) (i) aG) @)

List — 11
(i) Buddha
(i1) Samkarshana
(ii1) Atash

(iv) Shiva

Which one of the following evidence is
not the correct evidence of Ramagupta
in later period ?

(A) Manasollasa of Someshwara

(B) Shankararya’s commentary on

Harshcharita

(C) Majmat-ul-Tawarikh of Abul
Hasan Ali

(D) Sanjan Tamrapatra of
Amoghvarsha

Paper-1I

12.

13.

14.

15.

Given below are two statements, one is
labelled as Assertion (A) and the other
is labelled as Reason (R)

Assertion (A) The majority of
peasants in the Post-Gupta
Period were considered to
belong to Sudra Varna.

Reason (R) : A large scale
incorporation of tribes into caste
system started taking place from
the Post-Gupta Period.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A)

(B)  (A)is correct, but (R) is false

(©) (A)is false, but (R) is correct

(D) Both (A) and (R) are false

Which one of the following collection
of hymns of Alvar poetry collected by
Nathmuni ?

(A) Periyapuranam

(B) Tirumurai

(C) Nalayira Divya Prabandhan

(D) Tiruttondal Tiruvantati

Identify the dynasty to which Queen
Rudramadevi belonged to

(A) Chalukyas of Badami

(B) Pandyas of Madurai

(C) Kakatiyas of Warrangal

(D) Eastern Chalukyas of Vengi

Match List-I with List-II and select the
correct answer from the codes given
below :

List - I List — 11
(a) Kirtivarman (i) Vatapi
(b) Simhavishnu (ii) Tanjaur
(c) Dantivarman (iii) Kanchipuram
(d) Vijayalaya  (iv) Manyekheta
Codes :

@ (b © @
(A) (v) @) @) (@
B) () @) av) (@D
©) @) @@ a) @)
D) () (i) aGv) (D)
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16.

17.

18.

19.

In which one of the following ancient
literary works a separate section of
painting is found ?

(A) Panchasiddhantika

(B)  Vishnudharmottara Purana

(C) Panchatantra

(D) Natyashastra

Which one of the following was the
revenue officer of the Chola dynasty ?
(A) Aulnayak

(B)  Sherundaram

(C) Varitppottagakka

(D)  Perumakkal

Which of the following statements are

not correct ?

(i)  After Balban’s death his son
Bughra Khan assumed
sovereignty in Lakhnauti

(i1)) Alauddin Khalji extended his
authority to Bengal

(ii1) Ghiyasuddin  Tughlug made
Bengal part of the Delhi
sultanate in 1324

(iv) Firuz Shah Tughlug invaded

Bengal twice during the reign of
Shamsuddin Iliyas Shah.
Select the correct answer from the
codes given below :
Codes :
(A) (1) (@) (@{v)
B) () (iv)
(©) (1) (i)
(D) (i) (iv)
Match List-I with List-II and select the
correct answer from the codes given
below :
List -1 List - I1
(a) Shaikh Moinuddin (i) Delhi
Chishti
(b) Shaikh Bahauddin (ii) Ajodhan
Zakariya
(¢) Shaikh Farid-ud-din (iii) Multan

Masud Ganj-i-
Shakar
(d) Shaikh Nizamuddin (iv) Ajmer
Auliya
Codes :

(@ () (© (@
(A) (i) @v) (@) (@)
B) (i) G @Gv) ()
© Gv) i) @) @)
(D) (v) (i) (i) ()

Paper-1I

20.

21.

22,

Who termed the dominion of Sultan
Muhammad Tughlaq as ‘Hind and
Sind’ ?

(A) Ziyauddin Barani

(B) Abdal Malik Isami

(C) Ibn Battuta

(D)  Yahia-bin Ahmad Sirhindi

What measures were adopted by
Mahmud Gawan to curb the power of
the Bahmani Nobles ?

(i) He reduced the size of their
estate

(i1))  He increased the amount of land
classified as royal domain

(i) He forbade governors from
controlling more than a single fort

(iv) He enhanced the rate of land
revenue demand.

Select the correct answer from the
codes given below :

Codes :

A  © av) (i)
B) © Gy (i)
© Gi) @Gv) (i)
D) @ @) av)

Arrange the following in correct

chronological order :
(i)  Chaitanya (ii) Eknath

(i11)  Surdas (iv) Tulsidas
Codes :

A) a) (@ (@) 3Gv)
B @O G @) @Gv)

© O @ @Gv) (i)
D @ @) (@) 3Gv)
J-06-12
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23.

24.

25.

26.

27.

Given below are two statements, one
labelled Assertion (A) and other
labelled Reason (R).

Assertion (A) : In military terms
Firuz Shah Tughluq’s reign was
undistinguished

Reason (R) : He could not subjugate
the ruler of Nagarkot

In the context of the above two

statements, which one of the following

is correct?

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

Who described the Mughal imperial
Harem as the ‘Pavilion of chartity’ ?
(A) Nizamuddin Ahmad

(B) Abul Fazl

(C)  Gulbadan Begum

(D)  Abdul Hamid Lahori

In the Mughal System  of

administration, Mir Bakshi was

(A) Commandar-in-chief of the
Mughal army

(B) Incharge of the imperial mint

(C) Minister-in-charge of Treasury

(D) Paymaster General

Which of the following social reforms

was not introduced by Akbar ?

(A) Legalization of
remarriage

(B) Registration of marriage

(C) Total ban on the practice of sati

(D) The age of circumcision was
raised to twelve

widows

Which of the following statements is true ?

(A) In Mughal India, cultivation of
indigo was confined to the
provinces of Delhi and Agra

(B) Madad-i-Maash grants  were
made hereditary by Aurangzeb

(C) Altamgha Jagirs were made
transferable by Jahangir

(D) Kashmir was brought under the
zabti system of land revenue
assessment.

Paper-1I

28. Match List-I with List-II and select the
correct answer from the codes given

29.

30.

below :
List - I List — 11

(a) Maasir-i- (i) Motmid
Jahangiri Khan

(b) Igbalnama-i- (ii) Saqi Mustaid
Jahangiri Khan

(c) Maasir-i- (ii1) Khwaza
Alamgiri Kamgar

Ghairat Khan

(d) Futuhat-i- (iv) Isardas
Alamgiri Nagar

Codes :

(@ () () (d)

A) @ @) G) @)

B) @ @ G 3Gv)

© Gy @) @@ 3Gv)

D) © G @>G@) 3Gv)

Arrange the following events in

chronological order :

(1)  Mughal occupation of Balkh

(i)  Introduction of the system of
month proportion

(i11)  Extinction of Nizamshahi

(iv) Treaty of the Mughals with
Bijapur and Golkunda

(A) @) @) Gv) @)

B) @) ) @GO 3Gv)

© Gv) i) @) @)

D) @ aGv) @O i)

Arrange the following in chronological

order :
(i)  Prince Akbar’s flight to the

Deccan

(i1)) Conquest of Golkunda by
Aurangzeb

(iii)) Capture of Chitagong by Shaista
Khan

(iv) The institution of Khalsa by
Guru Gobind Singh

Select the correct answer from the
codes given below :
Codes :
(A (1) Gi) G @[Qv)
B) @Gi) @ G (@{1v)
© ) @Gv) @) (@)
D) @ (@) @v) (i)
J-06-12
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(B) WST - T TN SFREI S TS A
ENIGUCECEIRED

(C) MR 9 Acfaem SR %
TR0 Sl TT 3TRET i |

(D) SHER ¥ 9 T MR St
TOTIeAT =l 0 feam T |
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28.

29.

30.

GEl-1 B G-l F GAfeTd Hireie ue e

Fel T el 3T H T HINT :
e -1 = - 10

(a) AER-T- (i) HdHEsEH
STRFTRT

(b) THETA AH-T- (i) QTR THIS
STERTRI tEI]

(c) AR -T - (iii) ST HHATR
SR TRAEH

(d) FEE-T-  (iv) SEEH AR
SR

He :

@@ b © (@
@A) O @G @@ @v)
B) @) @ () 3Gv)
© G @G @ (@v)
O @ @ 3>) 3Gv)

T "eTs H el wrowhy | Saned
FHIT

() el gl W AHHR

(i) WTEAR! FHEI JOTel 1 TR
(iii) AT ®r o

(iv) ISR Ua Metsher ¥ el i i
(A) @) @i Gv) (@)

B) (i) (i) G 31w

© @Gv) @i Gi) @

D) G Gv) @ (i)

fFffad & W& HewH & AR
AR Eﬁf\ﬁq :
(i)  TESTS 3TheR T TFhT ToAaT
(i) ST FRT MAHST H (a1
(ili) IMEEARET 1 AT W RS
(iv) TT% TRIEE 5T EIeTdT i TToT
1 el § | Tl 3T Al 9= FI
kT
A @ @) () @Gv)
B) G @ () @Gv)
(C) @iy @(v) (i) (@
D) (@ @) @dv) (@)
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31.

32.

Given below are two statements, one is
labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The English East India

Company  eliminated  their
Portuguese and Dutch trade
rivals by the end of the

Seventeenth century.

Reason (R) : The English traders sold
goods of superior quality at
cheaper rates.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

Given below are two statements, one is
labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The number of Rajput
Mansabdars declined in the
Mughal nobility during the
second half of Aurangzeb’s reign.

Reason (R) Aurangzeb assigned
large number of Jagirs to nobles
from the Deccan.

Read the above statements and select

the correct answer from the codes

given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

Paper-1I
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33.

34.

3s.

Match List-I with List-II and select the
correct answer from the codes given
below :

List-1 List — 11
(Book) (Author)

(a) Indian Painting (i) Ashok
under the kumar Das
Mughals

(b) Architecture of (i) Moti
Mughal India Chandra

(c) The Technique of (iii) Percy
Mughal Painting Brown

(d) Mughal Painting (iv) Catherine
during Jahangir’s B. Asher

Time
Codes :

@ ® () @
(A) @) (@ (@) @Gv)
(B) (i) @G Gv) @)
© Gv) Gy @ (i)
D) @G Gv) G @

Consider the names of the following
Mughal Emperors of the Eighteenth
century :

(i)  Alamgir II

(ii))  Ahmad Shah

(ii1) Jahandar Shah

(iv) Muhammad Shah

Which among the following sequences
represents the correct chronological

order ?
A) () () (Gi) (v)
B) @) @) @) (@1v)

(©) (@) av) () @)

D) (@) Gv) (@) (@)

Given below are two statements, one is

labelled as Assertion (A) and other is

labelled as Reason (R).

Assertion (A) : The 1857 Mutiny was
suppressed by the British

Reason (R) : Except for a few like
Rani of Jhansi, a very few
Indian rulers participated in the
mutiny.

Read the above statements and select

the correct answer from the codes

given below

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(C) Both (A) and (R) are false

(D) (A)is true, but (R) is false
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31.

32.

T q T ST W E, TH B FH (A)

31T TAY T HRIT (R) el T & -

FHUF (A) : GOREdl IAEN F I qw
TS T Sfedr FHEAN A qoed!
3R T IR WAgr5al i 70
0T 9 e T |

FHRUT (R) : ™ AWRN 3T HiC F
ATeT G S W T & |

IR FHT B AT S A KT T Fe

T § TE ST H 99T B

HT :

(A) (A) &R (R) 3H T & 3R (R),

(A) & T& AT T |

(A) &R (R) HT & &, 6] (R),

(A) Hf & AT TE € |

(A) T &, fFq (R) 39T & |

(A) 3 TF &, fhg (R) T T |

(B)

©
D)

e 1 TR ST T §, TH HHAT (A)

3 T T SHROT (R) T T € :

U (A) : T & IEAHIA & ST
H et 3R o | IoTYd S agRI
1 FE | AT |

HROT (R) : SOTSS F SFH G 3T SR
= T G § S TS

IIRIFT FHEA! 1 UeT SR A KU T He

T F T8 S H T4 B

(A) (A) 3R (R) IFF @ & &R (R),

(A) H TE AT |

(A) 3R (R) I T &, & (R),

(A) &I TEl AT T E |

(A) T&l &, AT (R) ST |

(A) 3783 &, fFq (R) W € |

(B)

©
(D)
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33.

34.

3s.

Tt — 1 g — 11 ¥ gafed ST i)
1 e T Wl IR F FIH i
e -1 e - 11
(TETH) (FEh)
(a) sﬁmﬁ%mw @) mﬁww

(b) mlg'-;gimm; (ii) uﬁfa:a
(c) a“r%féq%w
gfe

e
(d) T T SR
SRR 2129

H:

~

(ii1) T SIS
(iv) R o,
W

@ (b () (d

i) (@ @i @Gv)

(i) @) @GAv) (@)

(C) (v) (i) (@) (id)

D) i) Gv) (i) @)

TS TSR F A FUE P A W

%’TIITW:

(i) TR e

(>i1) STEHRIE

(iii) SRR 3@

(iv) HEHS IR

T & & T AT TR TEl FHIeThH

TS e € 2

A) () @

B) (@) Gi) (@) (v)

©) Gi) Gv) Gi) @)

D) i) Gv) @) (i)

T 31 e 6T T &, Uk B AT AT

(A) 3R T H HRT (R) @ mr e

afirper (A) @ 1857 & Tomig & ffewr
FRT S0 Y 1 77 o7 |

FROT (R) : F &I B¢ N o9 fF
I, TgA FH TRA Wb A
T fasie o 9 feran |

I FOH W Ug SN A I Hed H

TEl ST AT TG Hiterd

T :

[N

(A)

(A)
(B)

(i) (iv)

(A) 3T (R) IHT ¥ & 3R (R),
(A) i T&l AT T |

(A) ¥R (R) M I &, 1= (R),
(A) ! TET AT TE § |

(A) 3 (R) 3T feam & |

(A) T &, T (R) fgean & |

(B)

©
D)
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36.

37.

38.

39.

Given below are two statements, one
labelled as Assertion (A) and other
labelled as Reason (R).

Assertion (A) : Dr. Annie Besant

organised the Home Rule
Movement against the British
Rule.

Reason (R) : She wanted to organise
all sections of Indian people on
the basis of a single political
slogan above religious
consideration

Read the above statements and select

the correct answer from the codes

given below

Codes :

(A)  (A)is correct, but (R) is not correct

(B) (A)is not correct, but (R) is correct

(©) (A) and (R) both are not correct

(D) (A) is correct and (R) is the
correct explanation of (A)

In which year did Robert Clive
accepted the Diwani of Bengal, Bihar
and Orissa from the Mughal ruler.

(A) 1761
(B) 1765
(C) 1778
(D) 1781

The Treaty of Bassien (1802) was
signed between :

(A)  the English and Peshwa Baji Rao II
(B)  the English and Tipu Sultan
(C) the English and Holkar

(D) the English and Gaikwad

The Home Rule Movement started by
Annie Besant aimed at :

(A) boycotting foreign goods

(B) educating the Indian Masses

(C) attaining self-rule for India

(D) agitating against the British

Monopoly in administration

Paper-1I

12

40.

41.

42.

43.

44.

Which of the following is the correct
chronological order of the English East
India Company factories established in
India ?

1) Surat (i1)) Masulipatnam
@ii1) Hugli (iv) Balasore
Codes :

A ®» @) @) aGv)

B) @) @ (@Gv) (i)

©
(D)

(i) @Gv) @G (i)

(iv) (i) (@) (i)

Who was the first woman President of
the Indian National Congress ?

(A) Sarojini Naidu
(B) Annie Besant

(C)  Sucheta Kripalani
(D) Madam Cama

Who wrote Poverty and Un-British
Rule in India ?

(A) Dadabhai Naoroji
(B) R.C.Dutt

(C) Charles Wood
(D) M. N. Roy

August 8, 1942 is important in Indian
History for

(A) Formation of Indian National
Army by Subhash Chandra Bose
at Singapore

(B)  Cripp’s Proposals for Dominion
status

(C) Non-co-operation Movement
launched by Mahatma Gandhi

(D) Quit India Movement launched

by Mahatma Gandhi

Which is correctly matched :

(A) “Do or Die” — Jawaharlal
Nehru

(B) “Swarajismy — Mahatma
birth right” Gandhi

(©) “Give me — Subhash
blood, I will Chandra
give you Bose
freedom

(D) “Independence - B. G. Tilak
through non-
violence must
be our aim”
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36.

37.

38.

39.

I 37 P 93 TS ¥, U ST

(A) 3 T H HROT (R) 1 A9 {2 mn

T

At (A) : TR U a9 7 fafes
A % [ RIS I A=
Hfed T |

FHRUT (R) : T& 9RA I ST b T am
H Ufe T 9 IW THA
TEHIGE AR & SR W Giied
AT TR AT |

ST T FUA B Ug R A T Fedl

T 3T H TF HiT -

T

(Z) (A) T &, <] (R) el Tl ¢ |
B) (AT T E TR T T |
(C) (A) 3R (R) I &l Tel ¢ |

(D) (A) W & 3 (R), (A) & Tal
T |

e FoTed 3 YA I9H ° S, R

zﬁﬁr%ﬁﬁaﬁmaﬁﬁﬁwaﬁ
)

(A) 1761

(B) 1765

(C) 1778

(D) 1781

ST |t (1802) 764 - 759 o ot g€ ot 2
(A)  ETfersT 31 UsTer &t e 11

(B) et 3R Y e

(C)  SfeTeT 3R gloshT

(D) ST 3 TMAaTS

T 99 g7 URRT fmar 7ar @St e
ST Bl AT =T 9T ?

(A)  TaRstt sget 1 afespr

(B) YR ST ot T¥IfeTe s

(C) 9RA & 18 TR T ST

(D) WRTEA ¥ oy uhiieR & foeg
SR AT
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40.

41.

42.

43.

44.

T e HEAT FN Wid HREH &
=Y ° FAfaigd 9 9 9 91 Taeidss

T & 2

i g« (ii) T

(iil) g (iv) STeTER

E T

(A (@) @) Gi)  (Gv)

B) (i) @) @[v) (i)

(©) (i) @Gv) @) (D)

D) @v) (i) @ (i)

Frea T AT (YRAE TAEE) HiUd 6 JIq

TfgAT 2TegeT i o 2

(A)  TRSH AES

(B) U SHT

(C)  FeIetl et

(D) HeH M

e T fort 2

(A) SRS ARISH

(B) 3R &l 39

(C) = s

(D) UH TG

ORAT 3fqer@ 9 TR 8, 1942 1 f&7

o for Aot € 2

(A) U =I5 99§17 TR § femm
YA HIUF T T

(B) ofuras W9 & &g e &
Proic)

(C) WA et g U fehar Tan
LA e

(D) WeleAT et FR U fekar Tam
IR DS TR

(A) “HU AW — STEEIA &

(B) “WRISTET  — HeTcAT Ty
S
s &

(C) “HHATE I, — IS ag
%
A= 3

(D) “afEqr &
S AT
TART 18
BT e’

— oS faet
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45.

46.

47.

Match List-I with List-II and select the
correct answer from the codes given
below

List -1 List - 11
(a) Freedom at (i) Collins and
Midnight Lapierre
(b) The Story of @i1) C.P.
the Integration Ramaswami
of Indian States Iyar
(c) Travancore (iii) V. P.
Dewan Menon
(d) Secretary of (iv) Pethick-
State Lawrence
Codes :
@ b © @
A @O @) @) @)
B) @) ) @ ()
© (Gv) @) a) (@
D) () Gv) () (@

Which of the following is the correct
chronological order of the Viceroys ?

(i)  North Brook

(i1))  Minto

(i1i1)) Linlithgow

(iv) Mayo

Codes :

A) Gv) (1) (@G i)
B) ) @) @G 34v)
© O ay > 3(4v)
D) @G) Gv) G (@

Arrange the following into sequential
order and select correct answer from
the codes given below :

@) St. Thomae war

(i1))  The Pindari war

(ii1) Buxar war

(iv)  War of Chandurthi
Codes :

A @ (@v) @) (@)
B) @Gv) @) ) (@
© O ay > 3(4v)
D) Gv) () () @
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48.

49.

50.

Match List-I with List-II and select the
correct answer from the codes given
below

List - I List — 11
(a) Col. Tod (i) Memoir of
Central India
(b) John (i1)) Annals and
Malcolm Antiquities of

Rajasthan
(c) C.R. Wilson (iii) Historical
Sketches  of

South India
(d) M. Wilks (iv) Early

Annals  of

the English

in Bengal
Codes :

@@ (b © (@

A aG) @ (>Gv) (i)
B) () @G Gv) @
© @ av) @) (1)
D) Gy @O 3G Gv)

Match List-I with List-II and select the
correct answer from the codes given
below

List-1 List - 1I
(a) Punjab Tenancy Act (i) 1883
(b) The Ilbert Bill (i) 1868
(¢) Hunter Commission (iii) 1921
(d) Chamber of Princes (iv) 1882
Codes :

(@ () (© (@

(A) G @) G 3Gv)
B) @ Gy (Gv) (i)
(©) (Gv) () (@Gi) ()
D G @ Gv) (i)

Chronologically arrange the following
schools of historical thought as
emerged at different points of time

(1)  Enlightenment Historiography
(i1))  Church Historiography

(iii)) Annals Historiography

(iv)  Subaltern Historiography
Select the correct answer from the
codes given below :

Codes :

A) @ Gi) Gv) (i)
B) @) @) @) (Gv)
©) @i () Gi) (iv)
D) @© @Gy aGv) (i)
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45. gt — 1 B G — 11 & 91 goferd s
3T =ﬁ"€r e Fei & W IW A T
HITT

e -1 =t - 11
(a) e U ferEe (i) Hifeg wg
SIS
(b) T W 3 T (i) .9 IEE
v ofw I
eT Wy
(c) TEMHRSEE (i) A
(d) Tohell AH VT (iv) URIF R
HT:
@ ) © (@
A) (@) @) G (v)
B) Gi) (i) @G (v)
© avy Gi) G @
(D) G (@Gv) (i) @)

46. TTAITRT STEERET T Wl HIATHES FH

FE?

() AEEH

Gi) o

(iii) fomferemm

(iv) W=

FT:

(A Gv) ) G (i)
B) @G @) 3G (Gv)
© (@ G (@) (v)
(D) i) @Gv)  G) (@)

47. T=fafEd ® HAER arerd FXd go
ST T e 7 ¥ WEl I AU :

() I=IOYIF
(i) e’ g%

(iii) TRR IJg

(iv) =gl 1 3w

E T

A) (@) (@v) (@) (i)

B) @Gv) @) Gi) @

© @ @G @) 3Gv)

(D) Gv) () @G @)
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48.

49.

50.

T - 1 G — 11 % Qi gAfed i
3R A 53 T F W HE W W T

HIT -
et -1 1T
(a) Tt 2T (i) gﬁf{}wm
ot ghear
(b) STH AR (i) ™ e
E%ﬁaﬁ:rm

(c) TARTTATT  (iii) %z?jiiab—c»r

Wﬁ@m
(iv) 3Tt THerE
AT

Erferer T
ST

(d) Tm. foewg

He
@ ® (© (@

A) (i) @@ (@Gv) (ii)

B) (i) Gi) Gv) @)

© (@O @Gv) aGi) (D)

D) Gi) G G (v

T — 1 & G — 11 & 9T gaferd i

3R A T Ff ¥ W SW H T

FioTd

-1 = - 11
(a) Wg@ THe (i) 1883
(b) T zASE faeT (i) 1868
(c) & =T (iii) 1921
(d) == 3 T (iv) 1882

HT:
@ () () (@
(A @y i) @) (1v)
B) (@ @) (@v) (i)
(©) Gv) () (i) ()
D) () @ (Gv) (id) .
T S T3 §99 4
IR H 3E % SHIAR Faerd i
(i) T feRIRamE
(i) =9 TR
(iii) T
(iv) Toe e AT
=1 % ¥ ¥ Tl I g
E T
(A () Gi) @>Gv) (i)
B) G Gi) G Gv)
© G @@ ai) Gv)
D) @ @G) @v) (i)
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